CONCEPTUAL 5

CONNECTION 16.2

The Magnitude of the Acid lonization Constant Consider the three
generic weak acids HA, HB, and HC. The images shown here represent the ionization of
each acid at room temperature. Which acid has the largest K?
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HB would have the largest K_a because
there are more dissociated hydrogen
ions (the white balls) in solution!
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HB would have the largest K_a because there are more dissociated hydrogen ions (the white balls) in solution!


FZ/ ZS/ o[« Aul‘b\'m(';qL'M F H,O

‘H& - Can oc"‘ as Lo'h\ ax LD + o RASE

-~ am P Lo{‘er\'c

g

O + HOoW@ = Ho'ed + Ohe)

RASE ACiny

Si‘MP\;‘LJ e ‘H;_O(,Q\ Q—A H+(ag\ + DH-(a\

—

o = Lisilfog-] = Tt Tow]

Cosaler 5 ,
TR*Q]\ |

>=1 (Pw" lr'gw'o{
{ v

@ 25°C Ko = 1-0xi0™ = (H *J_EQH—J

14

d
. PM".( unavd;] : (H*l == LOH—J == /\‘O“ (O o
o [0t v
= 10xi0 M .
Peidic ola: THO*) > [ouT]
i et B2 3 0 e I -0 40> M Acidic
oz i % )
sug Koz 10«10 = (U [OK] o (on)= Ko st
| D{zo;]
Lo )= [.oc107" M

CHo™) >IOK] = Acipic!




| AciDiC [H;b‘\] ? COH‘J

Basic solvs .. [_Hgo’g & EQH':J Jwar true !

N et i ERet) = Ford

o scs

}
—

el oH

e e . tari=in
| Do i

/(osarf’”\w'c <calo
- whon [HY] chag, by o 'l(:a(I'M of 10

- PH 173 e b-(‘ :(_

il kit ) l~o¥\0'3/v\

?\.\‘: —-\OE\J' [_"O*f \0‘31 s 200

THeL e i,
2], 245
Bt 6™ = o™ M
2sf
Y\(u\*fej [-H*_]-: l'or(O——’M ; DH: "'/Oq (I-OKIO-7§
@25% ' -
= 7400
| ] ?_dp
@5t ! -
<7 ¥ i 21
ACIDic NevtTea-  RBAsIc
| Tf oH=gwo QA Wwds THotl 7

g = Lo 7
IS WE A TR TN e




o= 8uo 2dp  2sf

‘ (K] = 1o P 1o = 3.98x(0"
o EH*.) / = ‘-\—-OMO-“M
oy ? / / 7
KM) = I‘Of ‘qu{= E.H+J [OH—K
24 .

[OH‘J= R - a.sxyo“’m

T R R

ls}C.
Pasic. ) Tow VS H*1
@ pH 2.0
OH\!J P-—S(aﬁw
E ph = ~\og [H*J POH = —log [o47]
LJ 1 | ‘J

P

St < Ky —_&\ﬂ[.OH =

@ 2S°c [-0410™"= [H*]COH]

: ﬂoG(A@ —ﬂ°1 )Q 1%(1 oot ) = -IOq (CH*JCom J>
I\
. }(%R*X?’JP | %.00 > —-,on[H*J ) -903 EOH:._J
=) : = T o)
‘L‘r @) QH Q H (o‘(o'-‘:
“

: l@ fo-J=1-ox0 M/POH-"Oq[°Q-3 00

DY / pH =l oo pOH = [[- 00 ( BASIC)



